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V. EVIRERR

(1) ZallzRK (BHN2FE)
( /mL)

BE O E #B ol of o] of o o

Anabaena spp.

Chroococcus spp.

NN

Merismopedia spp.

Microcystis spp.

Phormidium spp.

= = 58 292 2178 94 22 38 2 22 38 14 4 12 188

Achnanthes spp.

Amphora spp. 2

Asterionella spp. 10 2 2 10

Aulacoseria spp. 4 8

Cocconeis spp. 10 30 2 2 2 10 16

Cyclotella spp. 36 10 4 2 2

Cymatopleura spp. 2

Cymbella spp. 32 20 2 4 12 10 4 10

Diatoma spp. 8 4 2 2 2 2 4

Diploneis spp. 10

Fragilaria spp. 8 4 2 36

Gomphonema  spp. 10 18 26 16

Gyrosigma spp.

Melosira spp. 8 12

Navicula _spp. 108 88 52 12 22 2 16 16 6 4 10 28

Neidium 2

Nitzschia acicularis

Nitzschia spp. 46 6 6 2 10 16

(o]

Pinnularia spp. 2 54 22 22

Rhoicosphenia spp. 6 22 2 2 10

Rhopalodia spp.

Surirella spp. 8 2

Synedra acus 2 2

Synedra ulna

Synedra  spp. 2 2 2

% E £ 4 of e 4 2 2of 22 6] 6 o 2 2

Ankistrodesmus spp. 2

Chlamydomonas  spp. 2

Chloromonas spp. 2

Cosmarium spp.

Oocystis spp.

Othersw

Scenedesmus  spp. 4 2 2 16 6 4

Spondylosium spp.

Sphaerocystis spp. 2 6

Staurastrum spp. 4

Tetrabaena spp. 2

Tetraspora spp.

Pediastrum spp.

(=) LI\D

H) 7 EE 0 0 4 0 0 0 0 0 0 0 0

~

| Cryptomonas spp.

A—J L EE 0 0 0 0 0 0 0 0 0 0 0 0

| Euglena spp.

' o E B 0 0 12 2 0 0 0 0 0 0 0 0

Dinobryon spp. 12 2

Uroglena spp.

W £ = oo o o of o of of of of of of o

Z D1t (Frenzel ina) 0 0 0 0 0 0 0 0 0

& Y| i 5 296] 278 116 28 40 4 50 44 20 4 74 192
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(2) 23

STLES 2K

(

([F2FE)
/10mL)

E & =

o

Anabaena  spp.

Oscillatoria spp.

b= p-A #5

Asterionella spp.

Cocconeis spp.

Cyclotella spp.

Cymbella spp.

Diatoma spp.

Fragilaria spp.

Gomphonema  spp.

Melosira spp.

Navicula spp.

Nitzschia acicularis

Pinnularia spp.

Rhoicosphenia spp.

Synedraq spp.

Surirella spp.

"% %

| Sphaerocystis spp.

) T EE

| Cryptomonas spp.

E 0w B
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